A M 7S =

oF
oo

~—

w <t

S b=

© b~

0 8 8 6 3

e
e
[l
[xp]
in i
KO
A N

)
o)
o
bl
KR RE
23 s
<k A 8
TR
o_‘_o_,_%
K
PR
771Wﬂ




—~
]
~—

34800
44800
39600
42900

29
32

36
33

gl
gl
[}
il i}
0

A A

(
(
(
(

o

S S
S S
=
—
([
o
N o
._- -_-
o o
S S
0 D
I
o <
= T
— ™

345k : 39600 = 36 = 1100

44 : 42900 < 33 = 1300




140°% ~ 150"% | ] \

150°% ~ 160™% 17
160°"% ~ 170™% 4
170 ~ 180°™ 1
SHA| 50

L=

@ AZe 27110 o]t}
O AGY Mg 5 Aol
© E47F 7P & AFL 150em ©14F ~ 160cm ] FHo] T},

@ T47t 7P 22 Alg-2 170cm ©14F ~ 180cm
ElC=
© 717} 145cm 91 sHgo] &oh= A2 Z4E 230t

® 06 @ 6,0 6
® 6,6 e @a.0.@0
® 6,06, 0

©50-(5+17+4+1) =23 0|B& E471 71 2 AFL
140cm ©]%} ~ 150cm B Tto|t,




ohe i ol WS 50 O 718 2AR Aotk tE F &
e e

7| (cm) ERES
14077 ~ 1457% 3
145°7% ~ 150" 9
150°7% ~ 155" 15
10

8

155 ~ 160"
1607 ~ 165"
1657 ~ 170"

1707 ~ 175" 1
1757 ~ 180" 1
A 50

@ AlFe] A= 8 7ol
@ E57F 7P B2 Al 150 cm O]/ 155 cm \|Tho] T},
® AEC A7]1= 5cm o]t}

@ 717} 152cm Q1 84 0] &dl= AFL 150 cm ©14F 155 cm
alwrolt.
®G)717} 44 2& AL 140 em oIk,

® 717k 7P &2 spAo] &3t Aol 140em o1 ~ 1450m
olgtolot. shAIRE A&t 7]19] A7)+ & &= {lH.




oy

< 2 8| = 5 i
I

= 2 R Y o

my A ~ ~

oy CRLI. < T

.AT O~ —~ .. AT M

% W@ - o = !

= I \X/ ol %

Yo |ZTT @ T3

lo TN —_ —

T W ] " . ol

oy o 7 %m_a Ay ﬂ_a

wose | AT 5 ot
—_ B9 ©» B

o X o = N .

— ux . 3

E o ﬂ_mmm H o g 9 °

gy vz & | ©©

i ol AT =

T N

mﬂ% N @ (4

18° o N 0

49 |2358| ©¢8

1D| @ L GE .Mﬂ @ @

10



o2 239 AFZFY ABCD oA /C & /B 9] o] 52412 mHo]
A E°|Y, A+ /D =210°¥4 o, CEB 9] 27]& 5tz

D
A
B C

> = °
[> Hehl 105°

/A + /D =210° | B2

£C + /B = 360° — 210° = 150°

T /C2 /B ol5EAS wHo]l H EolBR

1
/BCE + (CBE = 2 (£C + /B) = 5 x 150° = 75° o|tt.

N | =

(BCE + £CBE + /CEB = 180° ¢|E =

/CEB = 180° — 75° = 105° ©]t}.

—




